20,000 oag] 2 B a7
241 : 02
10,500 | 200/’%% { 250 30 r 282 282 280 -
. 1 200 a7
19.000 F 19,307 /7
: 19,334 -
19,459 1906 [ | 150 20 1
18,500 | 15 + =
: 18,804 1 100 1 (096
18000 - 10 | Hi@523. Vi, ¢
* 18305 50 s | A L
%
o0 LA L L LE LI, NIER=R=R=R=N=) <206, .
19 20 21 22 23 24 -
19 20 21 22 B (A - | L g
= - | "\
#2100342, EEFT8E,
24 65 -‘_&1;.?;‘ P
24 2500
4,000 4982 ,.) ~ . ’
: \ ‘
gy S ABBRIL
T} \{_ T |
24 ¥ zan N 152102
25 -= <" N,
- 16000 TRIEL NG sUars
%0 /- 1943,
80 r 706 713 10 500 BEL10T. ==~ :ﬁg’ﬁa
70 | 5 =
. 594 .
60 1577 549 590 :FT%T? '\\Eﬁ359 . (
50 24 _ - Y_ ‘*T' )
40 T 23 $Eju=|__='69~,
30 | ﬁ@531,-.:} (
20 180, T~
< o N d==3
10 ff |26 15 2.1 4.3 6.2 37 \ FER
0 — A — 1 I B — : 156
19 20 21 24 '
23 2 M M 2 1345 8045
M
M 9 22 1 7196
3 6 6 1 7056 7872
H9 17 |1 2767 7700 H9 17 |1 2767 7700
H9 H17 1 2767 7700 7301 2575 e - 3650 6287
H18 H21 3647 2400 548 5100 4195 7500 23 6 27 1267 7770 ::> : 638 3885
H22 781 7900 26 7000 808 4900 23 3 31 > 1345 8045 1 7056 7872
1 719 8000 7876 4675 5004 2400
5 9 4
4300

M 6 27 H18 H22 5 5004 2400




